]

o lgana sl pal dal oo lgle lela el o]

3 [ ERE3 [ T3 303 | K303 | E3L3 | E33[ 323 | C303 | L3203 | T35 ] 323 | E38

Aol R
|10
feroafe

~

- gd HreAtHeh Il udien (her 8 ), et 2024
ASH .

ad

o . - 11
A5 : 02:00 F 03:30 HTedH ' g"é |

T T 150 AT WTET & FgHT TATevil

T T A | Ugel HuAT At {3 e et i sagEe ug

(1) 39 w9 o & WIT 2| 8 & 9w - 1 H gl 9w fow 9 gafia 19 25 3R 9w 1§ gigaa
=l fawa | HEd 26 € 75 WA ID T 2| qH 75 T T HAT AR 3|

(2) eI U 2 3% & foI B

(3) Uv9A A B o T A 90 fire w1 o T S|

(4) WA o fow Taaa Iaabrent & STt | Teieh T AT o AT 9 faehed o foTw sharger <eiga
few mu &) fomm & =&l s - fosheu & dedam 1 e fow e serewmgER )
3C. Y9 3. 6 1 el I faehed 3. 2 8, A1 AT g AR IW W)
T F. 6 OOOD

(5) = fe3 U e & R ifehd fohu e ST Tl 7@ T S| 39 gehR sifeha fehy o gw
% IWH A 37 fgam D OO

(6) YIS T T 20% Y UH B Sk 4 I - faheu O @ 1 foashew @@t g0 A g1 faeheu ifha
1 AR 81 ek fore gedt & ame s § 3w Rrevew g T fdw fean gy

(7) ‘<t = e g’ W@ fdw & fafes o= forelt oft wea & fore we @ s1farss <iefga w1 w =
Fargiferd 3 W 30 3T I Wi T& T S|

(8) Ueh R 3ifeha fohT MU I &I et &I ST Hehdl |

(9) faeheu & I 3Afehd i o TTT haet il TR it T o dfard= 1 & SEaaTet | Ufaet & 3fha
IR Eler T8l fh SR |

(10) Y9 % Tedsh U8 o 1 3N 3ifqw g8 W FH= %™ (Rough work) & fo1u @reft e 2, i e
%M (Rough work) |

(11) wen 61 @ty goifeq g4 o RO Afg fohet T97 1 ITR 379! &1 IaT &I a1 AW o T 7 il
31d § qHT S W@ T YT oh ot G T R

(12) ol w91 & e /et aftafera B9 W wefaerss =1 adien shg Gemers @ foam famst =1 =)

(13) woa § e /7Tercht /38eh Tae § Toe fommer steran stfiviaehi gra dvg Riaromfereprt o freroretiespi
% feifed €9 5 7 9ot gefod foame™ & e 8 Afaarsd ughd 3 € 99|

(14) Ffe/merdt/zaes ey § faeT s ugfa @ 99 6t erafer wen afitvg & o wom @ st
(srearft) S g=h o Ifd B9 & @ 10 (24) for @ @it

(15) oY1 TIY AT 3T RV T Y Tl IRaid g R s dfufa o Fofmgar T wriard 6 smeef

(16) Het wreaw o Ty S wrar # off o fezm w71 ot mem % wigy gt % fore o we gd|
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Section - 1

English

01. Choose the correct pair of homophones to get meaningful sentence.
He me a mail and told there is a gift parcel of bottles.
(1) sent, scent (2) sent, saint (3) send, sand (4) get, gate

02. Read the following and find out the number of imperative sentences in it.

Come here
What happened?

Tell me all
I will not punish you

Write all on this paper.
() 2 2) 4 3 3 @ 1

03. Choose two Correct options.
Avoid too much use of mobile phones and
(1) Save home (2) Save your time
(3) Save earth (4) Be safe from eye problems

Read given advertisement and choose correct option.
P.V. J's Urja School, Nanded
Wanted
Post - Science Teacher
Qualification - B.Sc., B.Ed.
Apply before 15t June 2023
Secretary

04. The advertisement is given for the post of .
(1) Principal (2) Clerk (3) Teacher (4) Peon

SPACE FOR ROUGH WORK
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0s.

06.

Last date of application is .
(1) 151 April 2023 (2) 15t March 2023
(3) 151 June 2022 (4) 151 June 2023

Complete the sentence by using the correct form of verb to get Simple Future
Tense.

You good marks.

(1) will get (2) got (3) are getting (4) is get

Q. 07 & Q. 08 Instructions -

07.

08.

Read the passage and choose the correct alternative.

The famous physics professor Stephen Hawking has warned that
mankind is facing the most dangerous time in its history today. He
said that the world today is facing huge challenges like climate change,
overpopulation, epidemic diseases. “We have the technology to destroy
the planet on which we live and have not yet developed the ability to
escape it. Perhaps in a few hundred years from now, we will have built
colonies amid the stars, but right now, we have only one planet and we
need to work together to protect it.”

We have the technology to destroy the , according to Hawking.
(1) Aircrafts (2) Space (3) Planet (4) Tank

Choose incorrect alternative to complete the following diagram.
World's Todays Challenges

l l l l

(1) Overpopulation (2) Epidemic (3) Robbery (4) Climate
diseases Change

SPACE FOR ROUGH WORK
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09. Choose the correct alternative.

It is 5 to 11 o'clock, the school bell will ring after twenty minutes that means

at o'clock.
(1) quarter past Eleven (2) quarter to Eleven
(3) quarter past Twelve (4) 11 o'clock

10. Given below are words. Choose correct alternative which is of positive degree.

Shakuntal good Sanskrit

(1) Shakuntal is better than any other drama in Sanskrit.

(2) Shakuntal is the best drama in Sanskrit.
(3) No other drama in Sanskrit is as good as Shakuntal.
(4) Shakuntal is the best than any other drama in Sanskrit.

11.  Choose the correct alternative to explain the underlined phrase.

Akash was so active and enthusiastic, he always did his homework

in a jiffy.
(1) Very Soon (2) Hurriedly
(3) Neatly (4) Slowly

12. Choose the correct alternative for the underlined word.

When I met my grandmother after long time, we recollect my
childhood moments.

(1) Present Situation (2) Future Plans

(3) Every Activity (4) Remembering the past

SPACE FOR ROUGH WORK
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Q. 13 to Q. 15 Instructions -

13.

14.

15.

Read the passage and answer the questions.

Sushruta was indeed a bright student of veterinary medicine. His
teacher, Shalihotra, once decided to test him.

He asked Sushruta what all he would need to perform a surgery on
a wonderful horse. Sushruta, very quickly listed down all the instruments
and the medicines that would be needed.

“Three things are missing.” Shalihotra said.

Confused, Sushruta looked at him.

“I will give you a week to find them.” Shalihotra consoled.

Curious to find out what those three things were, Sushruta observed
his teacher carefully for the next one week.

Before operating the horse, Shalihotra observed every part of the
horse and then Sushruta found the first missing thing!

Choose the correct alternative.

Sushruta was a .

(1) veterinary doctor (2) bright student
(3) teacher (4) farmer

Choose the correct alternative.

What task Shalihotra gave to Sushruta

(1) To perform a surgery on a wonderful horse
(2) To find out three things

(3) To find out instruments

(4) To find out different medicines

Choose the correct alternative.
How long a period did Shalihotra allow to find the missing things?
(1) One day (2) Two weeks (3) A week (4) Month

SPACE FOR ROUGH WORK
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16.  Choose the two correct options for the underlined word from the given alternatives.
This year there is a great loss for India that Popular singer Lata Mangeshkar
passed away.

(1) Famous (2) Not known
(3) Strong (4) Very well-known

17.  Choose the correct alternative of Active voice for the following sentence.
My father was given a jeep by the government.
(1) The government give a jeep to my father.
(2) The government gave a jeep to my father.
(3) The government given a jeep to my father.
(4) The government will give a jeep to my father.

18.  Choose the correct alternative from the following to complete puzzle.

(Nle| |dfl]e]
a
S
(st
1 o 2 N 3) » “) e

19. Choose correct alternative to frame a meaningful question.
People / did / where / him / meet

(1) Where did people meet him? (2) Did people meet him where?
(3) Where did him people meet? (4) People meet him where did.

20.  Choose the correct alternative for indirect speech.
“We are orphans”, they answered.

(1) They answered they were orphans.

(2) They answered that they were orphans.
(3) They answered that they are orphans.

(4) They answered that they are not orphans.

SPACE FOR ROUGH WORK
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21.

22.

23.

24.

25.

Read the riddle and choose correct alternative.
What is the full of holes, but still holds water?
(1) Glass (2) Plastic (3) Iron (4) Sponge

The verb form of addition is .
(1) Add (2) Added (3) Additional (4) Addition

Choose the correct expression.
She died of hunger.
(1) Hey! (2) Bravo! (3) Oh! (4) Alas!

Read the following news and answer the questions by choosing correct option.

More Dinosaur Fossils found In Kutch
Ahmedabad, Feb 15, 2016 :

A team of Indian and German scientists working near Bhuj in the
Kutch region of Gujarat had found a big fossil of a dinosaur in a hill
in Lodai village. On Saturday, they found a few more fossils. The new
fossils include skull, jaw and some teeth of dinosaur. Their work of
excavation or digging very very carefully still goes on.

Name the village where a big fossil of a dinosaur found
(1) Kutch (2) Gujarat (3) India (4) Lodai

Find the number of nouns in the following sentence.
Avinash, Yash, Mona and Om yesterday came to Pune.
(1 2 2) 5 3 3 4 4

SPACE FOR ROUGH WORK
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ABCDE|F GHTIJ KLMNO|PQRS ST | UVWXY

26.

SECTION - II

INTELLIGENCE TEST

In the given table, in a code language symbols are used for the numbers.
Observe and find the symbols which will replace the question mark.

Numbers 0 1 2 3 4 5 6 7 8 9
Symbols | 1 | O | V | N | O | A | O | % | A | @

From the given (@ + A—ﬁﬂ\’)v + (A)V+D—7ﬁ’ = 7
() N 2 O 3 A 4 U

Q. 27 and Q. 28 Direction :

27.

28.

29.

30.

In a certain code language, figures are replacing letters.

AIR word is written as ACJ@, RAN word is written as @AM, TRY word is
written as O @¥ then how is the word TAN is written in this code language?

(1) *oeO 2) D@6 3) 6ANR 4 AGH

From the given code figures which symbols can form meaningful words.
(Select 2 correct options.)

(1) AEO 2) @A~AK (3) *AD 4) OO%

John was standing on a ground facing south direction. He started walking straight
in the same direction and walked 29 metres. Then he turned to his right at right
angle and walked straight for 17 metres. Again he turned to his right at right angle
and walked 8 metres, in the end he turned to his left in right angle and walked 11
metres. At what minimum distance is he from his original place?

(1) 36 m. 2) 34 m. (3) 35 m. 4) 37 m.

Sachin and Rahul participated in the running competition. Sachin said,
“My place in the line is 19" and ahead to me Rahul is at 4" place.” Rahul
said, “I am 9™ from last.” From the given options find the correct statement.
(Select 2 correct alternatives.)

(1) 24 Participants are there in the competition.
(2) Sachin is 5™ from the last.

(3) Rahul’s place is 16! in the line.

(4) Middle Participant’s place is 12th.

SPACE FOR ROUGH WORK
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ABCDE|F GHTIJ KLMNO|PQRS ST | UVWXY

26.

fawm - 11
TAUT

: ghgm L :
Ffaifgd df@e # el ARRfdeh WINT H TRl o TH W fugdl &1 WM
[ERI]

3T 0 1 2 3 4 5 6 7 8 9

gwe e | 1| O | VI IN | O | A | O] % A| @

W TR W (@+A-F)Y = (A +O-% = 7
1 N 2 © 3 A 4 U

T 27 3R 28 & forw w=Am

27.

28.

29.

30.

fort drenfass w1 H ‘e I 432, @od Wl 321 IR wHE & 12
M aE for@d| FEl o1eR SR Sl & HY W9E B & W T8

T AUR W TEh Ig Ve hdl for@r SRm?

(1) 2815 (2) 5843 (3) 5812 4) 5814
= # & oA wrohfae bl & AUyl veg IR BmM? (@ 3fa =i giw)
(1) 434 2) 511 (3) 242 4) 131

foret Weh HgM W ST gl o ST 29 X gt | 98l grRff IR wHe M H gEat
17 Hex =) Tt grff 3T’ wwen # geant 8 1. dgat T 3R 37d § arff 3R dwehd
4 geRt 11 Hl. 95 =, 91 98 qo €AW § fohal gt wogm e

(1) 36 #HiX (2) 34 #HiX (3) 35 #HiX 4) 37 "X

als i Wl o "d SR Ugd gl Hiifed gUl "M d o,

“aR F W M UEA WY HA W B W AW wAR H 1937 HHAE 2l
A 4 HE, H @ @AM TH W g, @ oH ¥ wE-m
TEl 3?7 (@ 3fua wam gH))

(1) 38 @yl § 24 weds 3| (2) 3@ | UEEl WHw ARA B
3) TEA HaAR H Hewgar 2l (4) " & TE H1 HHAG aHEdl 2
TF & gd T
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31. If in the year 2022 ‘Balika Divas’ falls on Monday, then in the same year
‘Kranti Day’ will be on which day?

(1) Monday (2) Tuesday (3) Sunday (4) Saturday

Q. 32 and Q. 33 Direction :

In the given venn diagram, number of travellers of a city is given. Observe
the diagram and answer the questions given below.

Aeroplane Travellers— 17

/H Bus Travellers
9
) 11 | 27

Railway Travellers \ 21

32. How many travellers who travel by aeroplane are also travelling by bus ?
(1) 13 2) 4 3) 18 4) 19

33. How many travellers are travelling by railway and not by aeroplane?
(1) 21 (2) 37 3) 32 (4) 46

34. If 9 x 17 = 49, 13 x 31 = 100, 12 x 18 = 81 then find 14 x 4 = ?
(1) 81 2) 64 (3) 121 4) 100

Q. 35 to Q. 39 Direction :
There exists a certain relationship between 15t and 27 term.

The same relationship exists between the 3" and 4™ term. Considering this
select the alternative to replace the question mark.

35. Malgudi Days : R.K. Narayan :: Broken Wings : ?
(1) APJ Abdul Kalam (2) Arundhati Roy
(3) Sarojini Naidu (4) Vikram Seth

SPACE FOR ROUGH WORK
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ABCDE|FGHTIIJ|/KLMNO|PQRST|UVWXY
31, &9 2022 i ‘A e’ @WAR i A™T BN, d 3@ a9y H whifq fod
-8 feq mm gme
(1) HaR (2) WIER (3) Team (4) wHEr
v 32 3R 33 & forw g=An
e o7 ompfa § s wet Y Wit f mew § 21 swe ffemr @k
= g & SR wE 4§ g
R e A 17|,

/”‘ g9 AET
9
> 327

@ IEfh \ 21
32. TR SEN U U1 RAAr fhad AEN 9® ¥ AWT L 87
(1) 13 2) 4 (3) 18 4) 19
33 W ¥ AT KA B WG O WES H AW R A8, v fhad wmht 7
() 21 (2) 37 (3) 32 4) 46

34. AR 9x17=49, 13x31=100, 12x18=81 @ 14x4=7?
(1) 81 ) 64 3) 121 4) 100

T 35 9§ 39 & forw g=e o
U UG I WL UG W S HEY B Ik oW § HeY R W A 9G
7Y Bl 3 WM H W@H THNEd % ¥H W AHAEl W@ e

35. Tdigqry MR : Maefd :: YEee : ?
(1) TRt (2) TR (3) e (4) Ao

TF & gd T
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R A A B R A 4

solpolgalpalgaloolpaloalnalgalpalogl
PTG A I E AT IR GG

s e

e
EAr,
L

ABCDE|F GHTIJ| KLMNO|PQRST|UVWXY
36. National Voters Day : 25™ January :: Constitution Day : ?
(1) 26%™ November (2) 25" December
(3) 30t January (4) 26" January
37.  Question Figures :
s T
]
0w | ik——al: @2 9
v
* -
Answer Figures :
N ANIEAP AN e T -
; : A
(1) 2) 3) 4)
38. 963 : 144 :: 842 : ?
(Select 2 correct alternatives.)
(1) o4 2) 78 (3) 112 4) 50
39. LOH : PMT :: ITJ : ?
(1) RSH (2) SHR (3) SIR (4) SHT

40. Find the mirror image of the question figure from the given options.
Question Figure :

AR

Answer Figures :

Cop3

2)‘

=

Cof

%jgf

(4)

SPACE FOR ROUGH WORK
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ABCDE|FGHIIJ|[KLMNO|PQRST|UVWXY
36. WW%:ZSW::@W&?:?
(1) 26 Ta (2) 25 feEeR (3) 30 et (4) 26 SHE
37. WA MRl :
- +
U]
= VIS ™ Al @ |3 ?
v
* =
IW ATRIEAT :
i
N AN ARk o 'l [al
: 8 A
(1) (2) 3) 4
38. 963 : 144 .. 842 : 7
(& 3f@ v gw)
(1) 64 (2) 78 (3) 112 4) 50
39. LOH : PMT :: ITJ : ?
(1) RSH (2) SHR (3) SIR (4) SHT
40. = wAsfa #it o fit wfem w@REE § & g
mat@ﬁr ST ATHAAT ¢

) A g

%)@

?@g

4
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R lonionion)

rarans:

323 | T35 | £33 | 333 | £33 | 333 | 33| 383 | (L3 13151

il

el Bl "l Sl Bl "l Sl Bl Tt Jot” el St cll St ll Bt
2353 12503 |

ABCDE|F GHTIJ KLMNO|PQRS ST | UVWXY

Q. 41 and Q. 42 Direction :

41.

42.

Find the water image of the question figure from the given options.

Question Figure : Answer Figures :
A ) 0y |20,
S B3] e 7 |3y
(1) (2) 3) 4)

0
vl [T
3 @@ IR

(1) (2) 3) “4)

SPACE FOR ROUGH WORK
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F GHTIIJ

KLMNO|PQRST| UVWXY

T 41 R 42 % forw g

e R f wemhe wE § 8 9f |

41. T HATHM :

IW ATRIAAT :

3 g 7| [

42. ¥ AR :

2) 3) 4

‘@@@ﬁa G

(1)

) 3) (4)

TF & gd T
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ABCDE|F GHTIJ KLMNO|PQRS ST | UVWXY

Q. 43 to Q. 45 Direction :
Observe the following pyramid. Study the arrangement of numbers and find
the correct alternative to replace the question mark.
13
41 52
11 26 29
48 50 14 18
31 27 49 33 15
21 58 34 28 36 16
17 20 24 30 35 32 19
25 10 37 43 23 39 56 60

43. 50485827 : 14183633 :: 26112750 : ?
(1) 29264914 (2) 26293349 (3) 26293314 (4) 26294933

44. 31175834 : 15193628 :: 21252024 : ? (Select 2 correct alternatives.)
(1) 36563530 (2) 16603235 (3) 16603236 (4) 36563528

45. 41503448 : 52142818 :: ? : 29333515
(1) 11272431 (2) 11272449 (3) 11272458 (4) 11272434

46.  The ratio of the ages of Sameer, Raghav and Aamir today is 7 : 5 : 3. Sameer
i1s older than Aamir by 12 years, then what is the present age of Raghav ?

(1) 12 yrs. (2) 21 yrs. (3) 9 yrs. (4) 15 yrs.

47. Below given four cubes are showing the different faces of the same cube.
There are numbers from 1 to 6 written on its surfaces. Find the incorrect pair
of numbers on the adjacent faces.

6 z 1 3

5 1 2 6

(1) 2 and 4 (2) 6 and 1 (3) 2 and 5 (4) 5 and 3

SPACE FOR ROUGH WORK
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ABCDE|F GHTIJ KLMNO|PQRS ST | UVWXY

T 43 ¥ 45 & T g
d= fou mu fufie @1 fFftgw owh qon ot fof @ STHER wwAREd %
WH W AMaen 3fud W@ g

13
41 52
11 26 29
48 50 14 18
31 27 49 33 15
21 58 34 28 36 16
17 20 24 30 35 32 19
25 10 37 43 23 39 56 60

43. 50485827 : 14183633 :: 26112750 : ?
(1) 29264914 (2) 26293349 (3) 26293314 (4) 26294933

44, 31175834 : 15193628 :: 21252024 : ? (3 3fwa@ = FHI)
(1) 36563530 (2) 16603235 (3) 16603236 (4) 36563528

45. 41503448 : 52142818 :: ? : 29333515
(1) 11272431 2) 11272449 (3) 11272458 4) 11272434

46. TR, T 3N R & IAWE AP HI FUM HAEM: 7:5:3 UET F| FHR,
IR @ 12 a¥ &g B, @ Tud I Fadae g fohadi?
(1) 12 a9 () 21 ad (3) 9 a9 4) 15 o9

47. = fou U WR =W fRE TH W H - YA Bl 3 W 1 H 6
3 fo@ B, @ @ Y & Ted Il hl E BH-H?

6 4 1 3

(1) 2 3 4 (2) 6 I 1 (3) 2 I’ S (4) S I 3
TF & gd T
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48. Two statements and two inferences are given below. Read them and select the
correct alternative. (Select 2 correct alternatives.)

Statements:
1) All pens are copies.
2) Few books are pens.

Inferences:
A) Few books are copies.
B) Few copies are not books.

(1) A is incorrect (2) B is correct

(3) A is correct (4) B is incorrect

49. Choose the correct option to replace the question mark.

6 5 8 11
1A4 1A3 2A4 9&7

(1) 225 2) 251 (3) 275 4) 224

50. Find the number to replace the question
mark after identifying the rule in number V27 V8 S
arrangement. (Select 2 correct alternatives.

s ( ) 125 | 64 | 9

V1331 | 3/512 ?

(1) 56 2) 19 (3) 18 4) 57

SPACE FOR ROUGH WORK
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48. = T weH qAM q 3FuW fer MU Bl I o @ wlw g
HH -
(1) &t 99 it 2l
(2) $® Y= W B
- <
(31) P® Y&IH HIGAT B
(@) T® =MuEl geas T8 2l
(1) ‘&1 3@ 2) 9 "A
(3) o A 4 T I\

9T 49 R 50 & foru g
= € T3 SRl H T AT T YgeR SRAE o T W SAHATAl b giHu)

49. 6 5 8 11
1‘4 1‘3 2‘4 9&7

(1) 225 2) 251 3) 275 4) 224
50.
3/27 3/8 5

3125 | 364 | 9 (@ fompen gfml)
V1331 | 3/512 | ?

(1) 56 2) 19 3) 18 4) 57

TF & gd T
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51. How many triangles are there
in the given figure ?
(1) 26
(2) 25
3) 16
4) 20

Q. 52 to Q. 56 Direction :

In the given series find the correct term to replace the question mark.

52. 43, 31, 28, 12, 10, ?

4 7

(1) 10 2 9 3) 8
53.  Question Figures :
" - O ]
o A -

DD-‘A

(?

Answer Figures :

m O A Ol
o | 2 Q ® Hm
® m A =
(1) (2) (3) 4)

SPACE FOR ROUGH WORK

0322-Hindi Set-A 20 of 32

Contd...




ABCDE|F G HTIIJ

KLMNO|P QRS ST

UV WXY

51, =0 & T ompfd H P& fohad By B7

(1) 26
2) 25
(3) 16
4) 20

9T 52 ® 56 & foTu wEMT

1 ofeeet # Wv9 fogd & T W A U8 1 9IE g

52. 43, 31, 28, 12, 10, °*
(1) 10 2) 9 (3) 8 “4) 7
53. 9w T
" - O ]
® 4 O ?
O O | W ® - °
IW ATHRIAAT :
O 0 [2] [om
o | “ O m @
® ] A o
(D (2) 3) 4)
TF 1 g AW
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5. LA A6OO , DAOCHA , «AAOD
(1) OOA~A () OOAA« (B) OO0OAA (@) OAOA

55. 1, 7, 34, 137, 410, 821, ?
(1) 1641 (2) 820 (3) 1230 (4) 1440

56. XBW, RGQ, LLK, ?
(1) FQD (2) ESF (3) FQE (4) GQE

57. From the given options pick the wrong term out.
125, 115, 103, 89, 74, 59, 40
(1) 103 2) 59 (3) 40 4) 74

58. 1,8,5 9, 4,5 8,59 1,5 1,5 89,5, 4

In the given number series, how many times preceding 5 square numbers and
succeeding 5 cube numbers have occured?

(1) 4 times (2) 2 times (3) 5 times (4) 3 times

59. Form a meaningful idiom from the letters

given in the figure and find its meaning T L
from the given options. C E
(1) Very rarely P

2) B i

(2) Becoming nervous ElD

(3) Feeling ill
(4) An easy task

SPACE FOR ROUGH WORK
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54. AAoOO , DAO6A , -AAOD
() OLUA-A (2) HOAAe (3B) HOAA @) OAlAe
55. 1, 7, 34, 137, 410, 821, ?
(1) 1641 (2) 820 (3) 1230 (4) 1440
56. XBW, RGQ, LLK, ?
(1) FQD (2) ESF (3) FQE (4) GQE
57. T wifcem # 7o 9g W@l d @ glew
125, 115, 103, 89, 74, 59, 40
(1) 103 (2) 59 (3) 40 4) 74
58. 1, 8 5, 9, 4, 5,8, 5, 9,1, 5 1, 5, 8 9, 5, 4
3 STHRATCTRT W 5 o T8l qid o H&A AR S % W¢ gl oauedn SR
8, UH fhadl aR 33T g7
(1) 4 «@r (2) 2 R (3) 5 @R (4) 3 WX
59. &9 § fqU MU e ¥ AR gMa et
#1 o T w4 @ ghw @ |
(1) T&a §gHI a
(2) 9Tt R T o
(3) 9wt HRAT
(4) @ HE
TF 1 g AW
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60. If the given alphabet series is written by reversing the order of letters,
eighth letter to the left of the middle letter will be at what place from
left side?

(1) 21 (2) 20t (3) st 4) ot

61. In the word ‘INCOMPREHENSIBILITIES’, how many times the letter ‘I’ has
occured?

M 5 (2) 6 (3) 4 4 7

62. From the given alphabet series, from each group only 1%, 3™ and 5% letters
are written and a new series is formed, then in that series which pair of letters
will occur at the same distance from the letter P.

(1) Tw (2) MW (3) FY 4) HW

Q. 63 to Q. 65 Direction :

In the following rhythmic series which set will replace the question mark.
Observe the pattern and choose the correct alternatives.

6. ?2LY?2LLL2ZL2LYZ?2LL
() LLZYL () LLYZL (3) LZLYL (4 LZYLL

64. 678285824523422321
(1) 7543 (2) 3457 (3) 7453 4) 4573

65. OA¥O+x¥0O :? AO+AO 7 00 ? A+
(1) + 0% Q) O+ 3 O+0 4) ¥ 0O

SPACE FOR ROUGH WORK
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60. < T AT IAC HH U fTET W A I o R W ok IMEd I8,
gRff 3T ¥ H-9 HA W F?

(1) 21 @ () 20 d 3) 54 4) 6 d

61. ‘frmeft 7 fueht 9<ft @ &0 &t s fFoprefll’ 3@ a9 § S 31l Hi
g ferat?
(1) 6 2) 4 3) 5 4 7

62. T TZ AW o YAk g ¥ &% 1, 3%, 59 AW I HH H for@emt
T AN AR H, q IW HeATGT H PTGl AR EAW g W
BHaT 318 hl gl - ?

() IW (2) MW (3) FY (4) HW

T 63 ¥ 65 % foru gEAm
@ i e W # FhEu ek YEfaEd % T W AWET

gfr:

63. ? ®F T ? F H H ? FH { Hhdd ! HH
(1) FAHFTH (2 HHAFH (3) FATFH (4) HAAH D

64. 6 78 ? 858 ? 457?347 2321
(1) 7543 2) 3457 (3) 7453 4) 4573

65. OA¥O+kO?A0+AO0?0O?A+
(1) + 0% 2) O+ % 3) O+ O 4 %00

TF & gd T
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Q. 66 to Q. 70 Direction :
From the given options pick the odd term out.
66. (1) Agartala (2) Aizwal (3) Imphal (4) Sikkim
67.
® X + +
O A O A
+ 01X (@O |0 /41X O]\ |@
O + o X
(D ) 3) 4
68. (1) 100 (2) 252 (3) 392 (4) 576
O 3 @ o R @ 3
70. (1) CWF (2) DVI (3) FTL (4) GSN
71.  Find the correct option to complete the question figure.

Question Figure :

[

Answer Figures :

[

[

[

(1) () 3) “4)
SPACE FOR ROUGH WORK
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T 66 | 70 % fow g
g H A dedaren 9§ Wi B ¥ gHu
66. (1) STFRAeN (2) VSt (3) TH 4) fTafFen
67. O X + +
O A O YAN
| A @ . O /alX] O]\ | @
O + ® X
(1) (2) 3) 4
68. (1) 100 (2) 252 (3) 392 4) 576
5 6 7 8
69. (1) 15 @ o7 G og @ 39
70. (1) CWF (2) DVI (3) FTL (4) GSN
71. T/ weAepfd @O wW % fag 3f@ w9

T TR :

[

W SATREAl ¢

[

[

&

(1) 2) 3) )]
TF & gd T
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Q. 72 and Q. 73 Direction :
Find exactly the same figure that matches with the question figure from the options.

72.  Question Figure :

7

)

Answer Figures :

P

| |

) )

(1 2) 3) (4)

73.  Question Figure :
[ 1]

P

&QZF

Answer Figures :

(1 2) 3) (4)

SPACE FOR ROUGH WORK
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T 72 3R 73 & o gmAw
T B WA H g-9-3 fHererel A w1 W g
72. U ATHM :

a3

7

<

7

o

X

7

o

(1) (2) (3) (4)
73. A HATHM :
| |
IW ATHET ¢
L] | | ] | ]
(1) (2) (3) 4)
TF & gd T
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74. In the given question figure, a paper after folding is cut as shaded part shown.
How will it look from the given answer figures after unfolding?

Question Figure :

Answer Figures :

H B A | A H B
S EIEEES B
H B V| Vv H B
(1) (2) 3) 4)

75.  From the alternatives, find the figure which is hidden in the question figure.
Question Figure :

Answer Figures :

(M (2) 3) (4)

SPACE FOR ROUGH WORK
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74, F= @ T TR % HES Kl HIGH HIL, I W WA W IFHI IATHR

HHE-8 WE h T@ femm?

U TR :
i
> 4 |
ST HATRIEAT :
H B A | A N
>
;o {lell
H B \ AR 4 i
(1) (2) 3) 4)
75. YEThd # fodt g ompfa W § @ ghw
9T TR
IWATRAET ¢
(1) (2) 3) (4)
TF 1 g AW
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